A #K 2

2 HWMBATEHORELLSE
(1) HOBRUE M ORFEZL L (km? @ I R EL) (GE%ER 11 A1 H)

ERIVE T & 494 | GO | 514 | 524 | 534 | 544 | 554 | 564 | 574 | 5 84
1embh b2 emiii| — o128 418 1518 61K oK 1K o 0 |% 25
2 cemPh F 4 em AT | £9 148 |49 1.4 0 01K OoF oK o0lK o 0% 0
4 embh b % 0.9 0 0 0 0 0 0 0 0 0

EEITE T & 594 | 604 | 6 14E | 6 24E | 6 34 | TioctE | 24F 34 4 4F 5 4
lemPl E2em R0 |49 6 [K 0 015 9% 0/ 198 olx 7|8 21 0
2emPh Edem AR (K 0 (K 0 0% 0 0% o0l o 0% o0 0
4 embh b 0 0 0 0 0 0 0 0 0 0

EREITE T & 6 4 7 4F 8 4 94 | 104 | 1 14| 124 | 1 34| 144 | 154
1emPh B2 emRii [ £ 254 K9 0 [F9 0 |49 0 |9 53 |[§ 21 0¥ 8 [¥ 38 0
2emPh B4 em R K 24 |F9 0 [ 0 018 3% o 0 0 0
4 cmbPh o0 0 0 0 0 0 0 0 0 0

ERTE R & 164 | 174 | 184 | 194 | 204 | 2 14 | 224F | 2 34F | 244 | 2 54
lemPlE2em R 0 K 0 |F 12 K 0K 0 o 0 [ 01K o 0
2 emPA b 4 em A 0 0 0 0 0 0 0 0 0 0
4 cemPh B 0 0 0 0 0 0 0 0 0 0

EREITE T & 264 | 279 | 28 | 294 | 304 | #IUcH | w24 | s34 | 44 4 |20 5
1emPh b 2 emRii |59 0 0 [ 0 0% 0 & 0| 0 0 0 |%J 0
2 emPA b 4 em A 0 0 0 0 0 0 0 0 0 0
4 cemPd B 0 0 0 0 0 0 0 0 0 0
(2) BHEETEORZVKER (BUBHIG~SF 54 @ IR IR)

JI§  fir IKHE LA FHETE T &= (cm) i
1 N E] 78. 28 YA T AT LS | 37
2 S () 50. 05 I TS T/ N
3 % Ji 46. 79 P T AN
4 X T 43.09 YA T R
5 4 C| 41.91 ViR T T <

(3) WZE5FEMOBIEIL FTREO KXW AKAES CFERL 30 F£~4F0 5 4F « I IR)

JI§  fr IKHE 4 FHETE T & (cm) g fE i
1 B IL-1 3.76 22 )\ Flti 2 PNIETAA N
2 ¥ IR-1 2.93 i E A IS
3 L IL-5 2.79 22 )\ i 2 PN T 4 ST H
4 % IR-8 2.70 IR 17 57 B T
5 ¥ IL-2 2.63 2 )\ B 2 PNET

(4) FEETEORZVKER (D04 F~5F0154F @ I RIR)

JI§ {7 IKHE 4 FERE T & (em) gt fE Hh
1 4 7 0 1 1.34 Fe B BN K78 R
2 R IL-5 1.17 22 )\ ER i 2 PN T 5 SR8
3 i IL-1 1. 11 722 )\ BB 2 NIETAA PN
4 ¥ IL-6 1.05 22 )\ Bl 2 PNHT
5 v IL-3 1.00 22 )\ Bt 2 PN T K 25 5




